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Eil = X 72 BRAE BRAE BRAE BRAE BURAE BRAE BRAE
H#F # F 0 B & EHF EHF EHF EHF EHF EHF EHF
= A B M Z Dt — iR eRA HERK Z Dt HERAK Z Dt HEFERAK
T HFORE 4.6 4.6 5.1 9.0 T Bl 2.6 4.8 E:|
® 4 F A B SHMTFI0R178 SHTEI0R17E SHTEI0R17E SHTEI0R17E SHTEI0R17E SHTEI0A298 SHTEI0A298 SHTEI0A16E SHTEI0A168 HHTEI0A168 HHTEI0A298
S b=} 19.5 21.9 19.2 22.2 15.1 18.6 20.4 17.3 15.9 19.4 17.2
& # : 4 >30 >30 >30 >30 >30 >30 >30 >30 >30 >30 >30
p H 7.5 7.1 6.5 6.4 6.0 7.0 6.7 7.5 8.1 6.6 7.3
ERfEHE (mS./m) 33.8 24.5 18.5 8.0 14.8 33.2 1.3 25.5 18.5 16.9 48.1
bl r 2 [ZENN (mg L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ >4 7 b4 (mg./ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
bl (mg L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A i v B LA (mg./ L) <0.02 < 0.02 <0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
[0 ES (mg L) 0. 006 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 0.009
L “ X Ficd (mg./ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7 oL F L oK R (mg L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
RKUBEBiE Z=L (mg./ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
DS/ 2N =N = I A (mg” L) <0.002 <0.002 <0.002 < 0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
m & ok R E (mg./ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
BElEE=ZLE /) T — (mg L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
= LB/ = R = R S (mg./ L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1M1= BEITFLY| (L) <0.002 <0.002 <0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2—-Y%9mBpITFLy| (g/L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
Lii—rysBaRITEY| (MGL) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2—r)ooBTH Y| (IEg7L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
5 Y BBDITFLY (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Fr0BITFLY| (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
183—Ysmmn7axy| (m L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
F > > FN (mg./ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
>4 < o b4 (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F AR Y AL T (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
B ~ P 4 > (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
t 2 2 (mg./ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WHMERRUEMWBEER| (g L) 0.19 3.2 1.5 0.38 4 2.9 1.5 8.3 0.36 1.1 1.4
A ) ES (mg./ L) 0.21 0.1 <0.08 0.09 < 0.08 < 0.08 0.08 0.09 0.13 < 0.08 0.17
[£3 5 * (mg./ L) 0.04 0.1 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 < 0.03 0.03
1.4 — 2 4 % 4 (mg./ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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Al ' i R £ RENRE RITAER HEMRE EEHHO REREES AKEETILF FEMNEE REAT LA FE Ly 73 A B — 2 L LT RIER ELThRES
Bl = -3 B R LR R LR FE LR FE LR LR LR [T
Bl b= X 72 BRAE BRAE BHRAE BHRAE BRAE BRAE BRAE
H#F # F 0 B & EHF EHF EHF EHF EHF EHF EHF
= A B M IKEIKIR HEFERK HERK IKEAKR Z Dt Z Dt HEFERAK
T HFORS ] 4.7 ENC] ] T8 T8 1.7 T
= ). k3 A =] SHTEI0/H208 SHTEI1ATR SHTEI1ATR SHTEI0A288 SHTEIATR SHTEI108288 SHTENATR SHTEI108288 SHTEIA24E SHTEIA 2B SHTEIA 2B
%k B 18.9 17.2 15.4 22.1 14.5 19.0 13.2 20.6 15.5 16.0 14.5
& # : 4 >30 >30 >30 >30 >30 >30 >30 >30 - - -
p H 6.4 6.7 7.2 6.6 6.9 7.1 7.3 6.5 - - -
ESEHE  (mS/m) 26.2 7.1 12.1 14.5 4.2 30.1 8.5 5.8 - - -
A K 2 Y A (mg/ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
£ ¥ 7 v (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
s (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
A B 4 B L4 (mg/ L) <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
[} ES (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
L 73 * - (mg/ L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7oL OF Lok ® (mg/ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KUEdE 7z =] (mesL) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
S 4o oo A v | (msL) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 <0.002 <0.002 < 0.002
mo#E e k% (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 <0.0002 < 0.0002 < 0.0002 < 0.0002
BIEEE=ZLE/S T —| (/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
® 12— oo xT4 Y| (mgsL) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.002 < 0.0004 < 0.0004 < 0.0004
1—sooxFLy| (mesL) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-ssmOITFLY| (gL) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
Litl—krysnnzTgy| (g L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1.,2—rysO0T 4| (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
gltvsmRATF LY (L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 <0.001
FrZ%B00TFLY| (/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
13— manFaxy| mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
F 9 5 A4 (mg/ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DI 4 DA (mg./ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
F A A Y h L T | meL) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
| x Y A (mg./ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 <0.001
i v v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
WEMEERRUEMBREEE| ML) 3.6 0.51 1.1 1.4 0.28 0.33 0.92 0.7 2.2 0.75 0.80
N B E (mg/ L) < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 < 0.08 0.21 0.52 0.24 0.21
1F ) E (mg/ L) < 0.03 < 0.03 < 0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03 <0.03
1.4 = U F % 4 v | (mg/L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005

&
RERLEFBI TVIRKEIXTF (X#) TRY.




3 REHER @R

BRBE
&
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A Y 4 a & 5 N-18 N-17 M-18 1-19 L-22 K-21 K-18 K-22 1-18
BOo® O A& LA R R B L AL R AT LR AT BT AR A ARHREEOD AR B AT AUH RS BHHRSKE AR HETE
E & # [ B MW BHH BHH BHH BHH
E = S » HREE HREE HREE HREE HRAE HRAE
#F # F OB B BHE BHF T BHF B BHF
M B M EF-3:ES #5EAK H£ERK EERAK EERK EERK
# #FEORE EX] 2.5 T 4 Y 2 Y B
2 ®m & A A SHEEIA2E SHEESAI58 SHEEIA2E SHFE10H298 SHFE10H298 SHTE108298 SHTE10H298 SHTE10H298 SHEEI0A29E
K R 20.0 17 16.0 17.6 19.6 19.6 19.4 20.0 19.1
E 8 4 - - - >30 >30 >30 >30 >30 >30
p H - - - 58 6.5 6.9 6.9 6.3 1.2
BEEEEE  (mS/m) - - - 33 2 48 48 17 2
K =T % A | (mesL) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
2 v 7 v (mg./ L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
% (mg./ L) <0.005 <0.005 <0.005 <0.005 <0005 <0005 <0005 <0005 <0005
A M 2 8 4 (mg./ L) <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
[0S ES (mg./ L) <0.005 <0.005 <0.005 <0005 < 0.005 <0005 < 0.005 <0005 <0005
4 ® K #® (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
7 oL % L ok 8| | mesL) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
KUBIE 7= M L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D.
S o oo A& Y| mesL) <0.002 <0.002 <0.002 <0002 <0002 <0002 <0002 <0002 <0002
moE ok R % (mg/ L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
EhE=ZLE/ v —| (L) < 0.0002 < 0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
B - ssmanzsv] mu < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1—vsmoTFLy| e L) <0.002 <0.002 <0.002 <0002 <0002 <0002 <0002 <0002 <0002
2-csmEIFLY| (mesL) <0.004 <0.004 <0.004 <0.004 <0.004 <0004 <0004 <0004 <0004
Lii—tusoozsy| me L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
12— kysBEBRITEY| (e L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 0.0007
gltvsmRazTF LY L) < 0.001 < 0.001 < 0.001 < 0,001 < 0,001 < 0.001 <0.001 <0.001 <0.001
Fr3smEOTFLY| (L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
13-vsmnFaRy| meL) < 0.0002 < 0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002
F v 5 4 (mg/ L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
DI S (mg./ L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 <0.0003 <0.0003 <0.0003 <0.0003
F AR DAL T | (L) <0.002 <0.002 <0.002 <0.002 < 0,002 < 0,002 <0.002 < 0,002 <0002
Bl ~ o 2 (mg./ L) < 0.001 < 0.001 < 0.001 <0.001 <0.001 <0.001 <0.001 < 0,001 <0.001
+ [ D (mg/ L) <0.002 <0.002 <0.002 <0.002 < 0,002 < 0,002 <0.002 < 0,002 <0002
WEHEEERUEMBEEE| (e L) <0.03 0.59 0.03 6.8 1.0 0.68 1.4 1.4 1.8
5 5 % (mg/L) 0.09 0.08 0.45 <0.08 0.16 0.15 0.39 0.14 0.12
£ 5 ES (mg/L) <0.03 <0.03 0.14 <0.03 0.10 <0.03 <0.03 0.04 0.03
4 — v A EH Y| meL) <0.005 <0.005 < 0,005 < 0,005 < 0,005 < 0,005 < 0,005 < 0,005 < 0,005
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& 5 9 16
* v v a & 5 D-15 L-05
Al E i) R % BRMHRAIAE
3 = # B
3 = = 2
il #¥F 0B E EHP
) = A B ® IKIEKIR
T HFFORSES (m) 4.8 B
® b4 F A B SHTFI0A16R SHTFEIATR
ES B 15.9 14.5
& # |4 >30 >30
p H 8.1 6.9
ESEHE (mS./m) 18.5 4.2
/20 = R = R SR N (mg/ L) < 0.006 < 0.006
E|1,2-Y 800 Jany (mg./ L) < 0.006 < 0.006
[ = I = BRI (mg./ L) <0.02 <0.02
4 v F ¥ F F v (mg./ L) < 0.0008 < 0.0008
g 4 7 T 7 b2 (mg./ L) < 0.0005 < 0.0005
& 72 . = b B F F v (mg./ L) < 0.0003 < 0.0003
4 v 7 B FLFr 5 v (mg./ L) < 0.004 < 0.004
* * > b4 il (mg./ L) < 0.004 < 0.004
Y m A 2 B = L (mg./ L) < 0.004 < 0.004
% 7 B E # = r (mg./” L) < 0.0008 < 0.0008
E P N (mg/ L) < 0.0006 < 0.0006
> 4 8 L K R (mg/ L) < 0.001 < 0.001
2z / 7 Hh L T (mg./” L) < 0.002 < 0.002
bt 4 7 B X v K R (mg./ L) < 0.0008 < 0.0008
B )L=+tBa 7T v (mg./ L) < 0.0001 < 0. 0001
~ 2 T M (mg/ L) < 0.06 < 0.06
* > [ b4 (mg./ L) <0.04 < 0.04
B|2ALBSITFLAFY L (g L) < 0.006 < 0.006
= v T /2 (mg./ L) < 0.005 < 0.005
£ Y 7 7 b4 (mg./ L) <0.01 <0.01
7 v F £ z (mg./ L) < 0.002 < 0.002
I EY B8 A kE Ry Y (mg./ L) < 0. 0001 < 0. 0001
S < b4 # b4 (mg./ L) <0.02 <0.02
7 2 v (mg./ L) 0. 0002 < 0.0002




2 1 2 3 4 5
* P v a2 F B F-15 D-19 L-18 L-22 1-19
il TE it R % T PR PP Hrgt AT i LT AL A 1] T BEEE | AR R T
G = i % [i] (L1 % ] L7 fi] (L7 b=t ai Bty
B X 5 Mk A Mk A kR AR A kR AR A kLR A
FHFA HF o B Rk EIF W I ezl il
2] i M OB ERETEVN EREDTEVN T EROEVN EROIEVN
] HF o ®E S (m) 5.0 RH R 3 AR
23 1 A A A AFIITAE6 20 B AFITEAEL0 16 0 AFITE6 20 B A0 20 0 AR A 29 AF2EIA2TA AM24ELALTH
K i 195 22,0 173 189 180 146 15.5
% B 4 >30 >30 >30 >30 >30 >30
p H 6.8 6.7 73 70 - 6.6 5.7
A E % (mS/m) 192 31 175 204 - 22 39
oK 3 v A (mg/L)
S v 7 v (mg/ L)
EA (mg/ L)
Aol 7 owm A (mg/L)
[} ES (mg/ L)
L w® & s (mg/L)
7o % ok ) (mg/L)
KUY 7 =1 (mg/ L)
Y s mom A% v @mgL) <0.002 <0.002 < 0.002
woo e ok % (mg/L) <0.0002 <0.0002 <0.0002
it =1/ ~— g/ L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
* L2— Y7 mr=x# > Mg/ L) <0.0004 <0.0004 <0.0004
LI—-YZwwe=xFL>r (g L) <0.002 <0.002 <0.002 <0.002 <0.002
L2—YZuwr=xF L g/ L) <0.004 0015 <0.004 <0.004 0.004
LLl—RhUZwmwaxky (mg/L) < 0.0005 < 0.0005 < 0.0005
LL2—hYZmo=xs>r (mg/L) <0.0006 <0.0006 <0.0006
5 Y ZBBa=xF Ly (g/L) 0.001 0.005 0.024 0.027 0.001
Fh727mrTF LY g/L) <0.0005 <0.0005 0.084
L,3—vY27wvu7sa~y (mg/L) < 0.0002 < 0.0002 < 0.0002
¥ 4 7 PN (mg/ L)
v o= DA (mg,/' L)
F oA X v o T (mg/L)
H ~ v v (mg/L) <0.001 <0.001 <0.001
+ v v (mg/ L)
T e 4 28 S R OV AR 26 (g /1) 10
BN - # (mg/ L)
IE3 ) Ed (mg/ L) 0.14
L4 — ¥ A4 ¥ ¥ v (mg/L)
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